EE331


Lab Practice Exercise


Fall 2011
During this exercise you will be building and performing measurements on the following circuit.  The expected answers for each of the measurements are provided for you.
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1. Set V1 and V2 of the DC power supply to the values indicated and build this circuit on your quad board.  Measure V1 and V2 and the current being supplied by (i.e., coming out of the positive terminal) each of the sources.
V1 = _____________ (3.3V)

V2 = _____________ (2.5V)

I4V = _____________ (21mA)
I6V = _____________ (3.9mA)

2. Add one variable resistor box, RL1, as indicated in the figure below and adjust the value of RL1 until V2 = 1.8V.  Record this value.
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3. RL1 = ___________ (100)

4. Add the second variable resistor box, RL2, in series with RL1 as indicated in the figure below and adjust the value of RL2 so that the current through RL1 and RL2 is 13mA.  Record this value.
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RL2 = ___________ (50)

5. Measure the current flowing through the 100 resistor and the current flowing through the 33 resistor between nodes V1 and V2.

I100 = _____________ (19.5mA)
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6. Verify that KCL is satisfied at node V2.
7. Measure and record all node voltages as indicated in the above figure.

V1 = _____________ (3.06V)

V2 = _____________ (1.97V)

V3 = _____________ (0.66V)
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